W=1200LLF W=1200LLF W=1200LLF 90~100

20~30

ZEBREAR*vyI(AL) kyFL—IL (AL)

S4407 S6540

F UL (SUS) 69 Ry FL—ILZIHAL) \

M4 X 120/ 33 L IE=2.4.5mm) 495 - S6113 |

M4 X160/ 34 )L [E=8mm) PBFREYELFE R (SUS)

I M4 x 20 |

| ISRV ER(AL)

|
|
|

110LLF

40

o
!
mﬁ<kf

30

40
sokokok

k%%
kkkk

S4455PN
WZZEFvvT(AL)
S1106PNC
HZ & AL)
S1025PNC
IR LEZ(AL)
S2025PN IrmX

ISR LI R #Z(AL)

S1025PNC PARIR R 5% (AL)
XAEFEEM(AL) S1040PNC

S3050BB(RB)-wkkx T#:(AL) 1% (AL)

/ FREYE L (P-SUS) S4455PN S2040PN
—— M4 x 25 |

110
FH#H

30
25

kk
—00

50~70

=xk%kk

X H(AL) -

S5545

HIRHAZRALE)

& Max68mm Gt E A

HZ#&AL) M67Rw T vMAL)

S1025PNC 7NA7RJLEM6 X 20(SUS)

Bz BE vy I (AL FREyERL (P-SUS) XA RISH (AL) IR VIR Z 55y T (AL) TR vy T (HHE)

S1106PNC M4 x 25 S3050BB(RB)—#kkx S1106PNC S6540ECP

T#(AL) THEFEE (AL JAE(AL) ryTL—IL(AL) NRILRZR(AL) ARYIZz) BXFIT STV (AL

S4455PN FS44CHA S5545 S6540 S1025PNC t=2+4+5-8mm KS6540EWHA
EERRK 7> H—(SUS)

THEfTEE (AL 5 i
FS44CHA - l 0 “1 < o M 10 —o //m / . SGA-M8,~ M8 x 35
- A NN Y ey S e ]
; = Ay
ol ||,

95

Sekskk
F4BH
Skeksksk
kxkckk
i
4

DOPPOPOPDOOD

HEK IR
®5.5%30

= =————p—— . =
HEFELLEETE ‘ / ‘ T\

THAD STV (AL)
S4455PN S2025PN

1!
Bk
|
‘ o R

D6MM-T v A(SUS)
M4 x 13

50~70 30

k%

160
120

BEEE/LAIL
of \ (UL DELBILKHE) 25 25 25 25 25
AAF7ZH— (AL XAERAO 225 225 X0 225 225 XHERB 225 20~30

MR ik =200/22000 = DNSSCA-1(70f4F) o d4b 22.° L
DNSSCA-2(80% f) W=1200L1F W=1200LLF W=1200LLF 90~100

40

R I T Ty UL OF= S o =2 [ MEXET T4 T au T,
N | X

& A H IS4

b

=
axa

% Y eRE &
IL ﬁitﬁ*iﬂ“/b_» Zé | ; #E |FTEB

T # A H & W FIUSFE WEHEER e R| (A3)=1/8,1/25

DODDPD [

/
/
_— By
/
/
/

ERLIEE L

‘ ‘ 1B AR/H L./ SL-PN2-S6540-B

#1%E B :2006.12.07 BEH: 2010.6.22 2033



